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%4<>EF>OF5?L=4O D45>F4 ?> 4<EF<??<=5 6>?NG45F:  

7 E4<>?>47>F>6>G > ?D4>F<G5E><< 74=OF<O< ?> >>=E?5>F4<, GG55=>= ?<F5D4FGD5 < 

E ?><>MLN M?5>FD>==OE D5EGDE>6;  

7 ?>47>F>6>4 D5D5D4F>6, 4>>?44>6;  

7 ?>47>F>6>4 > F5>GM5<G F5EF<D>64=<N ?> D4745?4< 4<EF<??<=O;  

7 6O?>?=5=<5 ?D4>F<G5E><E 7444=<=.  

�E?>?L7G5<O5 6 ?D>F5EE5 ?D5?>4464=<O 4<EF<??<=O D>D<O < <5F>4O >D74=<74F<< 

74=OF<= < 674<<>45=EF6<O ?D5?>4464F5?O < EFG45=F>6 6 4G4<F>D<<, 4 F4>65 >D74=<74F<O 

E4<>EF>OF5?L=>= D45>FO EFG45=F>6 >55E?5G<64NF 6O?>?=5=<5 =5 F>?L>> 4<44>F<G5E>>= 

(>5GG4NM5=), => < 6>E?<F4F5?L=>= DG=>F<<, 6 F>< G<E?5 D476<F<5 ?>7=464F5?L=>= 

4>F<6=>EF< < G6?5GU==>EF< 6O5D4==>= ?D>D5EE<5=, D>D<<D>64=<5 ?D>D5EE<>=4?L=>7> 

E4<>E>7=4=<O, ?D>D5EE<>=4?L=>= <45=F<G=>EF< < F5==>EF5= ?D>D5EE<>=4?L=>= 

45OF5?L=>EF<, E4<>EF>OF5?L=>EF< < =46O>>6 E4<>>D74=<74F<<. %<=ED>==>5 

674<<>45=EF6<5 >5GG4NM57>EO E ?D5?>4464F5?5= <>65F >EGM5EF6?OFLEO E ?><>MLN G4F4, 

E>744==>7> ?> 4<EF<??<=5 «�=D>D<4F<>==O5 F5E=>?>7<< =4 ?D54?D<OF<OE >5M5EF65==>7> 

?<F4=<O»  =4 ??4FD>D<5 «Moodle» https://moodle.ulsau.ru/mod/chat/view.php?id=122186 

'4F ?D54=47=4G5= 4?O >5EG645=<O GG55=>7> <4F5D<4?4 6 >=?4== D56<<5 6 F5G5=<5 

6D5<5=<, ?D54=47=4G5==>7> 4?O >E6>5=<O 4<EF<??<=O. �E<=ED>==>5 >5GG5=<5 6 6<45 

E4<>EF>OF5?L=>= D45>FO < >>=FD>?O E4<>EF>OF5?L=>= D45>FO ?> 4<EF<??<=5 6>?NG45F: - 

E4<>?>47>F>6>G > 74=OF<O< ?> >>=E?5>F4<, GG55=>= < =4GG=>= ?<F5D4FGD5 E ?><>MLN 

M?5>FD>==OE D5EGDE>6 < D54?L=OE >=<6=OE D5EGDE>6 5<5?<>F5><; - ?>47>F>6>4 > 

F5EF<D>64=<N. 

 

�=D>D<4F<>==O5 >><?LNF5D=O5 F5E=>?>7<< 6 >5GG5=<< 6>?NG4NF 6 E55O:  
1. $45>FG EFG45=F>6 ?>4 =5?>ED54EF65==O< 6>745=EF6<5< ?D5?>4464F5?O, >>F>DO= 

6 >?>ED54>64==>= <=F5D4>F<6=>= D>D<5 ?D>6>4<F:  



 

 

" <7?>65=<5 =>6>7> <4F5D<4?4: 6 D>D<5 ?5>F<<; 6 D>D<5 ?D>5?5<=>= 55E54O; =4 

>E=>65 45<>=EFD4F<>==>7> >5NOE=5=<O E ?D<<5=5=<5< <G?LF<<54<==OE ED54EF6 

<?< <=F5D4>F<6=>= 4>E><; <5F>4<G5E>>5 E>?D>6>645=<5 < >5NOE=5=<5 F5E=>?>7<< 

D5L5=<O 7444G;  

" ?>6F>D5=<5 < 74>D5??5=<O GG55=>7> <4F5D<4?4 6 D>D<5 4<4?>74;  

" E>?D>6>645=<5 4>>?444, ?>47>F>6?5==>7> EFG45=F><.  

2. $45>F4 6 <=F5D4>F<6=>= D>D<5 ?D< >>=EG?LF4F<>==>< E>?D>6>645=<< 

?D5?>4464F5?O: " ?>6F>D5=<5 < 74>D5??5=<5 <4F5D<4?4 6 D>D<5 4<4?>74, ?D< 

>>F>D>< <EF>G=<>>< 6>?D>E>6 O6?O5FEO =5 ?D5?>4464F5?L, 4 >><?LNF5D;  

" 4<E>GEE<< F<?4 «<>77>6>= LFGD<» ?D< ?><E>5 D5L5=<O 7444G;  

" 6O?>?=5=<5 EFG45=F4<< ?>L47>6>7> 7444=<O <?< E5D<< E6O74==OE 7444=<=.  

3. %>D56=>64F5?L=4O D45>F4 6 7DG??4E ?D< <5F>4<G5E>>= ?>445D6>5 ?D5?>4464F5?O:  

" <7GG5=<5 =>6>7> <4F5D<4?4 E <E?>?L7>64=<5< >5GG4NM57> EF5=4D<O;  

" D5L5=<5 <=F5D4>F<6=OE 7444G <?< 7444=<= <7 E>EF464 <=F5D4>F<6=OE FD5=465D>6, 

E M?5<5=F4<< E>D56=>64=<O 7DG??;  

" D45>F4 E <=D>D<4F<>==O<< <4F5D<4?4<< =4 >><?LNF5D5. 

 4. �=4<6<4G4?L=4O D45>F4 EFG45=F>6 =4 4G4<F>D=OE 74=OF<OE ?D< <5F>4<G5E>>= 

?>445D6>5 ?D5?>4464F5?O:  

" <7GG5=<5 =>6>7> <4F5D<4?4 E <E?>?L7>64=<5< >5GG4NM57> EF5=4D<O;  

" FD5=<=7< ?> >FD45>F>5 547>6OE =46O>>6, =5>5E>4<<OE 4?O D5L5=<O 7444G;  

" D5L5=<5 <=F5D4>F<6=OE 7444G 6 D4<>4E 7DG??>6>7> <?< <=4<6<4G4?L=>7> 

E4D4>F5D4; <?< 557 ?>445D6>< ?D5?>4464F5?O:  

" 6O?>?=5=<5 ?D>65D>G=OE < >>=FD>?L=OE D45>F;  

" F5EF<D>64=<5.  

5. %4<>EF>OF5?L=4O <=4<6<4G4?L=4O <?< 7DG??>64O D45>F4 GG4M<EEO 4><4 <?< 6 

>><?LNF5D=>< 74?5.  

%GM5EF65==>, GF> =4 >E=>65 >4=>7> < F>7> 65 6<DFG4?L=>7> GG55=>7> >5N5>F4 
<>7GF 5OFL >D74=<7>64=O D47?<G=O5 ?> D>D<5 GG55=O5 74=OF<O. �4?D<<5D, 

>5GG4NM<= EF5=4D<= <>65F 5OFL <E?>?L7>64= 4?O ?D>6545=<O ?5>F<<, ?D>5?5<=>= 

55E54O, 7DG??>6>7> <?< <=4<6<4G4?L=>7> <7GG5=<O =>6>7> <4F5D<4?4 6 >><?LNF5D=>< 

>?4EE5 <?< 4><4.  

�F<5F<<, GF> ?D>7D4<<=>5 ED54EF6> GG55=>7> =47=4G5=<O =5 74<5=O5F GG55=<>, 

7444G=<>, ?D4>F<>G< ?> D5L5=<N 7444G (>4> < E4<>7> ?D5?>4464F5?O), => ?>76>?ONF 

4>?>?=<FL 6>7<>6=>EF< FD44<F<>==OE ED54EF6 GG5=<O 5>74FO< 6<7G4?L=O< DO4><, 

<=4<6<4G4?<7<D>64==O< FD5=465< < >>=FD>?5<.  

&4><< >5D47><, <<5NFEO E?54GNM<5 64D<4=FO <E?>?L7>64=<O ?D5?>4464F5?5< 

D47D454FO645<>= ED54O 6 D56<<5 <=F5D4>F<6=>= E<EF5<O: 
1) ?D54EF46?5=<5 DD47<5=F>6 45<>=EFD4F<>==OE 5?>>>6 ?D< >5NOE=5=<< =>6>7> 

<4F5D<4?4 E <E?>?L7>64=<5< <=F5D4>F<6=>= 4>E>< <?< <G?LF<<54<==>7> ?D>5>F>D4;  

2) >5NOE=5=<5 ?D<5<>6 D5L5=<O 7444G 6 F>< 65 D56<<5;  

3) ?D>6545=<5 74=OF<= DD>=F4?L=>= D45>FO F<?4 «<>77>6>= LFGD<» D5L5=<O 

<=F5D4>F<6=OE 7444G ?D< ?>>G5D54=>= D45>F5 GG4M<EEO =4 >4=>< >><?LNF5D5;  

4) <=4<6<4G4?L=O= ?D4>F<>G< ?> D5L5=<N 7444G;  

5) F5>GM<= < E5<5EFD>6O= >>=FD>?L 7=4=<=;  

6) ?>6F>D5=<5 < 6O?>?=5=<5 G4EF< 4><4L=<E 7444=<=.  

$56<<O 1-3 ?D54?>?474NF D45>FG 6 >45<=5F5 <4F5<4F<>< E >><??5>E>< 

45<>=EFD4F<= < EF5=4D<56 E5<<=4D>6; D56<<O 4-5 3 6 >><?LNF5D=>< >?4EE5 E 

>><??5>E>< <=F5D4>F<6=OE FD5=465D>6 D56<< 6 3 6 4><4L=<E GE?>6<OE E >><??5>E>< 

<=F5D4>F<6=OE <4F5D<4?>6 4?O >D74=<74F<< E4<>EF>OF5?L=>= D45>FO EFG45=F>6. 

 

 

 



 

 

 

 

�D74=<74F<O >5D47>64F5?L=>7> ?D>F5EE4 4?O <=64?<4>6 < ?<F E 
>7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO 

�5GG5=<5 ?> 4<EF<??<=5 ?<F, >F=>EOM<EEO > >4F57>D<< <=64?<4>6 < ?<F E 

>7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO >EGM5EF6?O5FEO E GG5F>< >E>55==>EF5= 

?E<E>D<7<G5E>>7> D476<F<O, <=4<6<4G4?L=OE 6>7<>6=>EF5= < E>EF>O=<O 74>D>6LO F4><E 

>5GG4NM<EEO.  

� E?GG45 6>7=<>=>65=<O =5>5E>4<<>EF< >5GG5=<O ?<F E >7D4=<G5==O<< 

6>7<>6=>EFO<< 74>D>6LO 6 �'�5 ?D54GE<4FD<645FEO E>744=<5 E?5F<4?L=OE GE?>6<=, 

6>?NG4NM<E 6 E55O <E?>?L7>64=<5 E?5F<4?L=OE >5D47>64F5?L=OE ?D>7D4<<, <5F>4>6 

6>E?<F4=<O, 4<44>F<G5E><E <4F5D<4?>6, E?5F<4?L=OE F5E=<G5E><E ED54EF6 >5GG5=<O 

>>??5>F<6=>7> < <=4<6<4G4?L=>7> ?>?L7>64=<O, ?D54>EF46?5=<5 GE?G7 4EE<EF5=F4 

(?><>M=<>4), >>47O64NM57> >5GG4NM<<EO =5>5E>4<<GN F5E=<G5E>GN ?><>ML, 

?D>6545=<5 7DG??>6OE < <=4<6<4G4?L=OE >>DD5>F<>==OE 74=OF<=, >55E?5G5=<5 4>EFG?4 6 

744=<O �'�4 < 4DG7<5 GE?>6<O, 557 >>F>DOE=56>7<>6=> <?< 74FDG4=5=> >E6>5=<5 

>5D47>64F5?L=OE ?D>7D4<< >5GG4NM<<<EO E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO.  

�D< ?>?GG5=<< 6OEL57> >5D47>64=<O >5GG4NM<<EO E >7D4=<G5==O<< 

6>7<>6=>EFO<< 74>D>6LO ?D54>EF46?ONFEO 55E??4F=> GG55=4O ?<F5D4FGD4, 4 F4>65 GE?G7< 

EGD4>?5D56>4G<>>6 < F<D?>EGD4>?5D56>4G<>>6. % GG5F>< >E>5OE ?>FD55=>EF5= 

>5GG4NM<<EO E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO >55E?5G<645FEO ?D54>EF46?5=<5 

GG55=OE, ?5>F<>==O< <4F5D<4?>6 6 M?5>FD>==>< 6<45. 

 

 

 

  



 

 

6. �&���'�/� %$��%&�� ��/ &��'-��� ���&$��/ 
'%�������%&�, �$����'&�'��� �&&�%&�&�� �� �&���� 
�%�����/ ��%&�����/  
 

�<EF<??<=4 <7GG45FEO >4<= E5<5EFD, D>D<>= >>=FD>?O ?> 4<EF<??<=5 6 1 E5<5EFD5 

O6?O5FEO 74GUF. 

$>=4 >F5=>G=OE ED54EF6, ED>D<<D>64==O= 4?O ?D>6545=<O 6E>4=>7>, F5>GM57> 

>>=FD>?O GE?5645<>EF< < ?D><56GF>G=>= 4FF5EF4F<< >5GG4NM<EEO ?> 4<EF<??<=5 

«�=D>D<4F<>4» D47D45>F4= =4 >E=>64=<< $545D4?L=>7> 74>>=4 $>EE<=E>>= $545D4F<< >F 

29 45>45DO 2012 7. N 273-$� "�5 >5D47>64=<< 6 $>EE<=E>>= $545D4F<<".  

$>=4 >F5=>G=OE ED54EF6 ?D54EF46?5= 6 ?D<?>65=<< D45>G5= ?D>7D4<<O < 6>?NG45F 

6 E55O: 

- ?5D5G5=L >><?5F5=F<= E G>474=<5< MF4?>6 <E D>D<<D>64=<O 6 ?D>F5EE5 >E6>5=<O 

>5D47>64F5?L=>= ?D>7D4<<O;  

- >?<E4=<5 ?>>474F5?5= < >D<F5D<56 >F5=<64=<O >><?5F5=F<= =4 D47?<G=OE MF4?4E 

<E D>D<<D>64=<O, >?<E4=<5 L>4? >F5=<64=<O;  

- F<?>6O5 >>=FD>?L=O5 7444=<O <?< <=O5 <4F5D<4?O, =5>5E>4<<O5 4?O >F5=>< 

7=4=<=, G<5=<=, =46O>>6 < (<?<) >?OF4 45OF5?L=>EF<, E4D4>F5D<7GNM<5 MF4?O 

D>D<<D>64=<O >><?5F5=F<= 6 ?D>F5EE5 >E6>5=<O >5D47>64F5?L=>= ?D>7D4<<O;  

- <5F>4<G5E><5 <4F5D<4?O, >?D545?ONM<5 ?D>F54GDO >F5=<64=<O 7=4=<=, G<5=<=, 

=46O>>6 < (<?<) >?OF4 45OF5?L=>EF<, E4D4>F5D<7GNM<E MF4?O D>D<<D>64=<O >><?5F5=F<=.  



 

 

7. ''����-��&���'�%��� ���%��'���� %���%&�/&��,��� 
$���&/ %&'���&�� 

 
1. �G=<=4 �.-., %>?=F564 �.�. �=D>D<4F<>==O5 F5E=>?>7<< 6 >5M5EF65==>< ?<F4=<<: 

<5F>4<G5E>>5 ?>E>5<5 4?O EFG45=F>6 5<>F5E=>?>7<G5E>>7> D4>G?LF5F4 / �.-. �G=<=4, 

�.�.%>?=F564 3 '?LO=>6E>: '�%%� <<5=< �.�. %F>?O?<=4, 2014.- 21 E. 

2. �G=<=4 �.-., �=D>D<4F<>==O5 F5E=>?>7<< =4 ?D54?D<OF<OE >5M5EF65==>7> 

?<F4=<O: GG55=>-<5F>4<G5E><= >><??5>E 4?O EFG45=F>6 =4?D46?5=<O ?>47>F>6>< 19.03.04 

«&5E=>?>7<O ?D>4G>F<< < >D74=<74F<O >5M5EF65==>7> ?<F4=<O».- 3'?LO=>6E>: '?��' 

<<. �.�.%F>?O?<=4. 3 $56<< 4>EFG?4: https://moodle.ulsau.ru/course/view.php?id=2550 

3. �<45D>5D, �. �., �46<6=>64, �. �.�=D>D<4F<>4. �D4F><= >GDE ?5>F<=: GG55=>5 

?>E>5<5 4?O EFG45=F>6, >5GG4NM<EEO ?> =4?D46?5=<N ?>47>F>6>< 080100 «->>=><<>4» 

(>64?<D<>4F<O «54>4?46D»)/ �.�.�<45D>5D, �.�.�46<6=>64. 3'?LO=>6E>, 2015. 3198E.  

http://www.moodle.ugsha.ru/course/view.php?id=619 

4. �>?G556 %. �.�E=>6O D45>FO 6 MicrosoftWord 2007 : GG55=>-<5F>4<G5E>>5 ?>E>5<5 

4?O ?D4>F<G5E><E 74=OF<= < E4<>EF>OF5?L=>= D45>FO EFG45=F>6 6E5E E?5F<4?L=>EF5= < 

=4?D46?5=<=, >5GG4NM<EEO ?> 4<EF<??<=4< "�=D>D<4F<>4", "�=D>D<4F<>==O5 

F5E=>?>7<<", "�=D>D<4F<>==O5 E<EF5<O 6 M>>=><<>5" / %. �. �>?G556, �. �. $><4=>6. - 

'?LO=>6E> : '?��', 2018. - 100 E. - &5>EF : M?5>FD>==O= // -?5>FD>==4O 5<5?<>F5>4 

'?LO=>6E>>7> ��': [E4=F]. - URL: http://lib.ugsha.ru:8080/handle/123456789/22805.  

5. �>?G556 %. �. �E=>6O D45>FO 6 MicrosoftPowerPoint : GG55=>-<5F>4<G5E>>5 ?>E>5<5 

4?O ?D4>F<G5E><E 74=OF<= < E4<>EF>OF5?L=>= D45>FO EFG45=F>6 6E5E E?5F<4?L=>EF5= < 

=4?D46?5=<=, >5GG4NM<EEO ?> 4<EF<??<=4< "�=D>D<4F<>4", "�=D>D<4F<>==O5 

F5E=>?>7<<", "�=D>D<4F<>==O5 E<EF5<O 6 M>>=><<>5" / %. �. �>?G556, �. �. $><4=>6. - 

'?LO=>6E> : '?��', 2018. - 68 E. - &5>EF : M?5>FD>==O= // -?5>FD>==4O 5<5?<>F5>4 

'?LO=>6E>>7> ��': [E4=F]. - URL: http://lib.ugsha.ru:8080/handle/123456789/22804, 

6. �>?G556 %. �.�E=>6O D45>FO 6 MicrosoftExcel 2007 : GG55=>-<5F>4<G5E>>5 ?>E>5<5 

4?O ?D4>F<G5E><E 74=OF<= < E4<>EF>OF5?L=>= D45>FO EFG45=F>6 6E5E E?5F<4?L=>EF5= < 

=4?D46?5=<=, >5GG4NM<EEO ?> 4<EF<??<=4< "�=D>D<4F<>4", "�=D>D<4F<>==O5 

F5E=>?>7<<", "�=D>D<4F<>==O5 E<EF5<O 6 M>>=><<>5" / %. �. �>?G556, %.� �>?G5564. - 

'?LO=>6E> : '?��', 2018. - 100 E. - &5>EF : M?5>FD>==O= // -?5>FD>==4O 5<5?<>F5>4 

'?LO=>6E>>7> ��': [E4=F]. - URL: http://lib.ugsha.ru:8080/handle/123456789/22803. 

7. %>?=F564 �.�. �E=>6O D45>FO 6 ED545 MS Access. 'G55=>-<5F>4<G5E>>5 ?>E>5<5 / 

�.�. %>?=F564, �.-. �G=<=4. 3 '?LO=>6E>, '�%%�, 2007. 3 50 E. 

8. �E=>6O D45>FO 6 LibreOfficeBase: GG55=>5 ?>E>5<5 4?O EFG45=F>6 6E5E 

E?5F<4?L=>EF5= / �. �. $><4=>6 [< 4D.]. - '?LO=>6E> : '?��', 2019. - 52 E. - &5>EF : 

M?5>FD>==O= // -?5>FD>==4O 5<5?<>F5>4 '?LO=>6E>>7> ��': [E4=F]. - URL: 

http://lib.ugsha.ru:8080/handle/123456789/22806.  

 
8 ''����-��&���'�%��� � ��$�$��&������ ���%��'���� 

��%&�����/  
4) >E=>6=4O ?<F5D4FGD4: 

1. �=D>D<4F<>==O5 F5E=>?>7<< 6 M>>=><<>5 < G?D46?5=<< 6 2 G. '4EFL 2 : GG55=<> 

4?O 6G7>6 / �. �. &D>D<<>6 [< 4D.] ; ?>4 D544>F<5= �. �. &D>D<<>64. 4 3-5 <74., ?5D5D45. < 

4>?. 4 �>E>64 : �744F5?LEF6> .D4=F, 2021. 4 245 E. 4 (�OEL55 >5D47>64=<5). 4 ISBN 

978-5-534-09084-0. 4 &5>EF : M?5>FD>==O= // �5D47>64F5?L=4O ??4FD>D<4 .D4=F [E4=F]. 

4 URL: https://urait.ru/bcode/517144  (44F4 >5D4M5=<O: 28.04.2021). 

2. �5F5E>64, �. ..  �=D>D<4F<>==O5 E<EF5<O < F5E=>?>7<< 6 M>>=><<>5 : GG55=>5 

?>E>5<5 4?O 6G7>6 / �. .. �5F5E>64. 4 3-5 <74., <E?D. < 4>?. 4 �>E>64 : �744F5?LEF6> 

.D4=F, 2021. 4 178 E. 4 (�OEL55 >5D47>64=<5). 4 ISBN 978-5-534-08223-4. 4 &5>EF : 

M?5>FD>==O= // �5D47>64F5?L=4O ??4FD>D<4 .D4=F [E4=F]. 4 URL: 

https://urait.ru/bcode/491479  (44F4 >5D4M5=<O: 28.04.2021). 



 

 

3. ->>=><<G5E>4O <=D>D<4F<>4 : GG55=<> < ?D4>F<>G< 4?O 54>4?46D<4F4 < 

<47<EFD4FGDO / .. �. $><4=>64 [< 4D.] ; >F65FEF65==O= D544>F>D .. �. $><4=>64. 4 

�>E>64 : �744F5?LEF6> .D4=F, 2021. 4 495 E. 4 (�4>4?46D < <47<EFD. �>445<<G5E><= 

>GDE). 4 ISBN 978-5-9916-3770-1. 4 &5>EF : M?5>FD>==O= // �5D47>64F5?L=4O ??4FD>D<4 

.D4=F [E4=F]. 4 URL: https://urait.ru/bcode/508139  (44F4 >5D4M5=<O: 28.04.2021). 

 

5) 4>?>?=<F5?L=4O ?<F5D4FGD4: 

1. �57DGG>>, �4?5D<O &<<>D556=4. �><?LNF5D=O= ?D4>F<>G< ?> >GDEG 

"�=D>D<4F<>4". $45>F4 6 Windows XP, Word 2003, Excel, PowerPoint 2003, Outlook 2003, 

PROMT Family 7.0, �=F5D=5F : �>?GM5=> =4GG=>-<5F>4<G5E><< E>65F>< ?> <=D>D<4F<>5 

?D< �<=<EF5DEF65 >5D47>64=<O < =4G>< $$ 6 >4G5EF65 GG55=>7> ?>E>5<O ?> 4<EF<??<=5 

"�=D>D<4F<>4" 4?O EFG45=F>6 6OEL<E GG55=OE 746545=<=, >5GG4NM<EEO ?> 

7G<4=<F4D=O< < E>F<4?L=>-M>>=><<G5E><< =4?D46?5=<O< < E?5F<4?L=>EFO< / �.�. 

�57DGG>>. - 3-5 <74., ?5D5D45.,  4>?. - �. : �=DD4-�, 2010. - 368 E. - (�OEL55 >5D47>64=<5) 

2. �>D4556, %. �.  �D74=<74F<O 547 44==OE 6 2 G. '4EFL 1 : GG55=<> 4?O 6G7>6 / %. �. 

�>D4556, �. �. �>?>L<=4. 4 2-5 <74., <E?D. < 4>?. 4 �>E>64 : �744F5?LEF6> .D4=F, 2021. 

4 310 E. 4 (�OEL55 >5D47>64=<5). 4 ISBN 978-5-534-04469-0. 4 &5>EF : M?5>FD>==O= // 

�5D47>64F5?L=4O ??4FD>D<4 .D4=F [E4=F]. 4 URL: https://urait.ru/bcode/513879   (44F4 

>5D4M5=<O: 28.04.2022). 

3. %FDG6><=, �. �.  �47O 44==OE: ?D>5>F<D>64=<5. �D4>F<>G< : GG55=>5 ?>E>5<5 4?O 

6G7>6 / �. �. %FDG6><=, �. �. �>4<=. 4 �>E>64 : �744F5?LEF6> .D4=F, 2021. 4 291 E. 4 

(�OEL55 >5D47>64=<5). 4 ISBN 978-5-534-00739-8. 4 &5>EF : M?5>FD>==O= // 

�5D47>64F5?L=4O ??4FD>D<4 .D4=F [E4=F]. 4 URL: https://urait.ru/bcode/512160   (44F4 

>5D4M5=<O: 28.04.2022). 

4. %>65F>6, �>D<E />>6?56<G. �=D>D<4F<>==O5 F5E=>?>7<<: �>?GM5=>  

�<=<EF5DEF6>< �5D47>64=<O < =4G>< $$ � >4G5EF65 GG55=<>4 4?O EFG45=F>6 6OEL<E 

GG55=OE 746545=<=,  �5GG4NM<EEO ?> =4?D46?5=<O< ?>47>F>6>< 4<??><<D>64==OE 

E?5F<4?<EF>6 "�=D>D<4F<>4 < 6OG<E?<F5?L=4O F5E=<>4" <"�=D>D<4F<>==O5 E<EF5<O" / 

�. /. %>65F>6, �. �. &5E4=>6E><=. - 6-5<74 . - �.  .D4=F, 2012. - 263 E. - (�D4>F<G5E><5 

74=OF<O. �4>4?46D. �47>6O= >GDE. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 

 

6) ?D>7D4<<=>5 >55E?5G5=<5 < <=D>D<4F<>==O5 E?D46>G=O5 E<EF5<O: 

�D>7D4<<=>5 >55E?5G5=<5   
7 

?/? 

�<4 GG55=>7> 

74=OF<O 

�4<<5=>64=<5 ?D>7D4<<=>7> 

>55E?5G5=<O 

$G=>F<O ?D>7D4<<=>7> >55E?5G5=<O 

>>=FD>

?L 

<>45?<DGN

M4O 

>5GG4NM4O 

1 �5>F<O  �?5D4F<>==4O E<EF5<4: CalculateLinux 

�=F5D=5F 5D4G75D: Firefox 

�D<E=>5 ?D<?>65=<5: LibreOffice, 

�G?LF<<54<4: SMplayer 

�D4D<G5E><= D544>F>D: gThumb 

- - + 

2 �45>D4F>D=O5 

74=OF<O 

�?5D4F<>==4O E<EF5<4: Windows 7 

�D<E=>5 ?D<?>65=<5: 

MS Offise 7   

�?5D4F<>==4O E<EF5<4: CalculateLinux 

�=F5D=5F 5D4G75D: Firefox 

�D<E=>5 ?D<?>65=<5: LibreOffice, 

�G?LF<<54<4: SMplayer 

�D4D<G5E><= D544>F>D: gThumb 

%D54EF64 ?D>7D4<<<D>64=<O Pascal. 

Basic. 

��: 1C �5M5?<F 76/16 >F 03.11.2016  

R-Keeper 4>7>6>D 7 58 >F 17.11.2016 

- - + 

3 &5EF<D>64=<5  $5EGDE «-?5>FD>==>5 >5GG5=<5 '?��'» 

(<>4G?L=4O >5N5>F=>->D<5=F<D>64==4O 

4<=4<<G5E>4O GG55=4O ED544 -Moodle) 

�D>7D4<<=>5 >55E?5G5=<5 «%<EF5<4 

F5EF<D>64=<O INDIGO» 

+ - + 

4 $5D5D4FO «�=F<??47<4F.�'� 3.3»  + - + 

 

4 ) �=F5D=5F D5EGDEO: 

1. $545D4?L=O= ?>DF4? «$>EE<=E>>5 >5D47>64=<5» [-?5>FD>==O= D5EGDE]. 3 $56<< 

4>EFG?4. 3   http://www.edu.ru, E6>5>4=O=. 3 �47?. E M>D4=4. 3 /7. DGE. 
2.  �=D>D<4F<>==4O E<EF5<4 «�4<=>5 >>=> 4>EFG?4 > >5D47>64F5?L=O< D5EGDE4<» 

[-?5>FD>==O= D5EGDE]. 3 $56<< 4>EFG?4. 3  http://window.edu.ru, E6>5>4=O=. 3 �47?. 

E M>D4=4. 3 /7. DGE. 
3. $545D4?L=O= F5=FD <=D>D<4F<>==>->5D47>64F5?L=OE D5EGDE>6 [-?5>FD>==O= 

D5EGDE]. 3 $56<< 4>EFG?4. 3  http://fcior.edu.ru, E6>5>4=O=. 3 �47?. E M>D4=4. 3 /7. 

DGE. 
4.   �<=<EF5DEF6> E5?LE>>7> E>7O=EF64 $$ [-?5>FD>==O= D5EGDE]. 3 $56<< 4>EFG?4. 3   

http://www.mcx.ru, E6>5>4=O=. 3 �47?. E M>D4=4. 3 /7. DGE. 
5. �=F5D=5F-?>DF4? �D46<F5?LEF64 $$ [-?5>FD>==O= D5EGDE]. 3 $56<< 4>EFG?4. 3  

http://www.governement.ru, E6>5>4=O=. 3 �47?. E M>D4=4. 3 /7. DGE. 
6.  $545D4?L=>5 E>5D4=<5 [-?5>FD>==O= D5EGDE]. 3 $56<< 4>EFG?4. 3  

http://www.gov.ru, E6>5>4=O=. 3 �47?. E M>D4=4. 3 /7. DGE. 
7.  &5=FD4?L=O= 54=> $$ [-?5>FD>==O= D5EGDE]. 3 $56<< 4>EFG?4. 3 

http://www.cbr.ru, E6>5>4=O=. 3 �47?. E M>D4=4. 3 /7. DGE.  
8.  �4GG=4O M?5>FD>==4O 5<5?<>F5>4 eLIBRARY.RU [-?5>FD>==O= D5EGDE]. 3 $56<< 

4>EFG?4. 3 http://elibrary.ru/, E6>5>4=O=. 3 �47?. E M>D4=4. 3 /7. DGE. 
9.  %5?LE>>E>7O=EF65==4O M?5>FD>==4O 5<5?<>F5>4 7=4=<= [-?5>FD>==O= D5-EGDE]. 3 

$56<< 4>EFG?4: http://www.cnshb.ru/akdil/, E6>5>4=O=. 3 �47?. E M>D4=4. 3 /7. DGE. 3. 
10.  &5=FD4?L=4O =4GG=4O E5?LE>>E>7O=EF65==4O 5<5?<>F5>4 $>EE5?LE>74>445-<<< 

[-?5>FD>==O= D5EGDE]. 3 $56<< 4>EFG?4: http://www.cnshb.ru/, E6>5>4=O=. 3 �47?. E 

M>D4=4. 3 /7. DGE. 



 

 

11. �<DFG4?L=O= >><?LNF5D=O= <G75= [-?5>FD>==O= D5EGDE]. 3 $56<< 4>EFG?4: 

http://www.computer-museum.ru/index.php.  

12. �4<=>5 >>=> 4>EFG?4 > >5D47>64F5?L=O< D5EGDE4< [-?5>FD>==O= D5EGDE]. 3 $56<< 

4>EFG?4: http://window.edu.ru/window/libraryhttp://elibrary.rsl.ru/.  

13. �=D>D<4F<>==>5 >5M5EF6>: =4GG=>-4=4?<F<G5E><= 6GD=4? [-?5>FD>==O= D5EGDE]. 

3 $56<< 4>EFG?4: http://www.infosoc.iis.ru.       

14. �=D>D<4F<>==O5 F5E=>?>7<< 6 '?LO=>6E>5 [-?5>FD>==O= D5EGDE]. 3  $56<< 

4>EFG?4: http://it.ul-online.ru/. 

15. �=D>D<4F<>==O5 F5E=>?>7<<: F5>D5F<G5E><= < ?D<>?44=>= =4GG=>-F5E=<G5E><= 

6GD=4? [-?5>FD>==O= D5EGDE]. 3 $56<< 4>EFG?4: http://novtex.ru/IT  
16. �><?LNF5D�D5EE: <=F5D=5F-<744=<5 [-?5>FD>==O= D5EGDE]. 3 $56<< 4>EFG?4: 

http://compress.ru.   

17. �<74 557>?4E=>7> �=F5D=5F4 [-?5>FD>==O= D5EGDE]. 3 $56<< 4>EFG?4: 

http://ligainternet.ru/. 

18. �F>DOFO5 E<EF5<O [-?5>FD>==O= D5EGDE]. 3 $56<< 4>EFG?4: http://www.osp.ru. 
19. �5N54<=5==O= F5=FD 6OG<E?<F5?L=>= 5<>?>7<< < 5<><=D>D<4F<>< [-?5>FD>==O= 

D5EGDE]. 3 $56<< 4>EFG?4: http://www.jcbi.ru/index.html. 
20. %5F56O5 F5E=>?>7<< [-?5>FD>==O= D5EGDE]. 3 $56<< 4>EFG?4:  http://net.e-

publish.ru. 
21. �5M<= >GDE <=D>D<4F<>< < <=D>D<4F<>==OE F5E=>?>7<= [-?5>FD>==O= D5EGDE].4 

$56<< 4>EFG?4http://window.edu.ru/catalog/resources?p_rubr=2.2.75.6.19.  

22. �=D>D<4F<>4, 'G55=<> 4?O �'�>6, �D>L56 �.%., 2010. [-?5>FD>==O= D5EGDE].4 

$56<< 4>EFG?4 http://nashol.com/2013120874792/informatika-uchebnik-dlya-vuzov-

groshev-a-s-2010.html.  

23. �5M<= >GDE <=D>D<4F<>< < <=D>D<4F<>==OE F5E=>?>7<= [-?5>FD>==O= D5EGDE].4 

$56<< 4>EFG?4 http://window.edu.ru/catalog/resources?p_rubr=2.2.75.6.19.  

 

 



9 ��&�$���,��-&�%��'�%��� ���%��'���� ��%&�����/ 

�4<<5=>64=<5 ?><5M5=<= 4?O ?D>6545=<O 6E5E 6<4>6 GG55=>= 
45OF5?L=>EF<, ?D54GE<>FD5==>= GG55=O< ??4=><, 6 F>< G<E?5 
?><5M5=<O 4?O E4<>EF>OF5?L=>= D45>FO, E G>474=<5< ?5D5G=O 

>E=>6=>7> >5>DG4>64=<O, GG55=>-=47?O4=OE 
?>E>5<= < <E?>?L7G5<>7> ?D>7D4<<=>7> >55E?5G5=<O

�4D5E (<5EF>?>?>65=<5) 
?><5M5=<= 4?O 
?D>6545=<O 6E5E 6<4>6 
GG55=>= 45OF5?L=>EF<, 
?D54GE<>FD5==>= 
GG55=O< ??4=>< (6 E?GG45 
D54?<74F<< 
>5D47>64F5?L=>= 
?D>7D4<<O 6 E5F56>= 
D>D<5 4>?>?=<F5?L=> 
G>47O645FEO 
=4<<5=>64=<5 
>D74=<74F<<, E >>F>D>= 
74>?NG5= 4>7>6>D)

'G55=4O 4G4<F>D<O 4?O ?D>6545=<O 74=OF<= ?5>F<>==>7> F<?4, 
7DG??>6OE < <=4<6<4G4?L=OE >>=EG?LF4F<=, F5>GM57> >>=FD>?O < 
?D><56GF>G=>= 4FF5EF4F<< 7 210 «�5>F<>==4O 4G4<F>D<O»
�><??5>F GG55=>= <555?< 4?O ?D5?>4464F5?O,
�><??5>F GG55=>= <555?< 4?O >5GG4NM<EEO =4 80 <5EF, 
�G?LF<<54<==>5 >5>DG4>64=<5:
�=F5D4>F<6=4O 4>E>4 SCREEN MEDIA I-82SA-1LF; �>=<F>D «LG-

19»S19A10N-1LF; �D>5>F>D BenQ MX 813 ST-1 LF; �>E>4 
4G4<F>D=4O 3-E E5>F<>==4O. %<EF5<=O= 5?>> «Formoza»-1LF., 
�455?L HDMI 15 < G5D=O= 3 1 LF., �>?>=>< SVEN SPS-611S - 1 LF;
�?5D4F<>==4O E<EF5<4: Calculate Linux; �=F5D=5F 5D4G75D: Firefox;
�D<E=>5 ?D<?>65=<5: LibreOffice; �G?LF<<54<4: SMplayer;
�D4D<G5E><= D544>F>D: gThumb

433511,  

'?LO=>6E>4O >5?4EFL,
7. �<<<FD>67D44, 
G?. �G=5OL564, 4.310

'G55=4O 4G4<F>D<O 4?O ?D>6545=<O 74=OF<= ?5>F<>==>7> F<?4, 
74=OF<= E5<<=4DE>>7> F<?4, 7DG??>6OE < <=4<6<4G4?L=OE 
>>=EG?LF4F<=, F5>GM57> >>=FD>?O < ?D><56GF>G=>= 4FF5EF4F<< 7 
32 «�5M5F5E=<G5E><5 4<EF<??<=O»
�><??5>F GG55=>= <555?< 4?O ?D5?>4464F5?O,
�><??5>F GG55=>= <555?< 4?O >5GG4NM<EEO =4 28 <5EF; �><??5>F 
=4?O4=OE ?>E>5<= ?> <=65=5D=>-F5E=<G5E><< 4<EF<??<=4<.

%F5=4 ?45>D4F>D=O= ?> >E=>64< M?5>FD>=<>< �&&-01- 2 LF., 
$54G>F>D 2-E E>>D>EF=>= F<?<=4D<G5E><= 3 1LF., $54G>F>D 2-E 
G5D6OG=O= 3 1LF., $54G>F>D >>=<G5E><= 3 1LF., $54G>F>D G5D6OG=O= 
3 1LF., �45>D 45F4?5= <4L<= 3 1LF., �G?LF<<5FD 3 1LF.,
,F4=75=F<D>G?L 3 1LF., �<>D><5FD 3 1LF., �=4<>4F>D=4O 7>?>6>43
1LF., %F>=>4 4?O <=4<>4F>D43 1LF., �GFD><5D3 1LF., &65D4><5D 
«&-��-2» 3 2 LF., �><??5>F ��� "�F><M<>"30.03.2008 3 1LF., 
�??4D4F ??47<5==O= «�?474D»-1 LF., -?5>FD>?5GL ?45>D4F>D=4O 3 1

LF., �4<5D4 F<DD>64O > <<>D>E>>?G 3 1 LF., �<>D>E>>? 
<5F4??>7D4D<G5E><= 3 1 LF., �<>D>E>>? <5F4??>7D4D<G5E><= 
�?LF4<< �5F 3 1 LF., �5GL �GD5?L=4O ��-12 �1-1 LF., 
&D4=ED>D<4F>D &%3- 1 LF., ,>4D <5F4??<G5E><= 2- EF6>DG4FO= 
«AIKO»1 3 LF.
�G?LF<<54<==>5 >5>DG4>64=<5:
�D>5>F>D ViewSonic PJD5123 (?5D5=>E=>=) - 1LF, �>GF5G> Samsung

(?5D5=>E=>=) - 1LF, ->D4= 4?O ?D>5>F>D4 SCREEN MEDIA =4 
FD5=>75 (?5D5=>E=>=) - 1 LF.

433511,  

'?LO=>6E>4O >5?4EFL,
7. �<<<FD>67D44, 
G?. �G=5OL564, 4.310



�?5D4F<>==4O E<EF5<4: Calculate Linux;
�=F5D=5F 5D4G75D: Firefox;
�D<E=>5 ?D<?>65=<5: LibreOffice;
�G?LF<<54<4: SMplayer;
�D4D<G5E><= D544>F>D: gThumb.�DE<64F>D 7-zip

�><5M5=<5 4?O E4<>EF>OF5?L=>= D45>FO 7 36 «�><?LNF5D=O= 
>?4EE»
�><??5>F GG55=>= <555?< 4?O ?D5?>4464F5?O,
�><??5>F GG55=>= <555?< 4?O >5GG4NM<EEO =4 38 <5EF;
�=F5D=5F->4<5D4 D-Link DCS-910 12.10.2009 3 1 LF.,
%<EF5<=O= 5?>> «Colors»-4LF., �>=<F>D «Samsung»- 6 LF., 
�>=<F>D «LG»-6 LF.
�D<E=O= ?4>5F Microsoft Office Professional Plus 2007 Rus

�DE<64F>D 7-zip.

Microsoft Open License 62300500ZZE0906 >F 14.06.20077.

433511,  

'?LO=>6E>4O >5?4EFL,
7. �<<<FD>67D44, 
G?. �G=5OL564, 4.310

�><5M5=<5 4?O E4<>EF>OF5?L=>= D45>FO (G<F4?L=O= 74? 
5<5?<>F5><)
�><?LNF5DO: Intel(R) Celeron(R) CPU 1.70GHz / ��' 384Mb - 4 LF. 
E 6OE>4>< 6 E5FL �=F5D=5F, EF>?O < EFG?LO =4 80 ?>E44>G=OE <5EF.
�D<E=O= ?4>5F Microsoft Office Professional Plus 2007 Rus

�DE<64F>D 7-zip.

Microsoft Open License 62300500ZZE0906 >F 14.06.20077.

�D>7D4<<=>5 >55E?5G5=<5 «�D>7D4<<=4O E<EF5<4 4?O >5=4DG65=<O 
F5>EF>6OE 74<<EF6>64=<= 6 GG55=OE < =4GG=OE D45>F4E 
«�=F<??47<4F.�'�» . �>7>6>D 7 18 >F 28 <4O 20197.

433511,  

'?LO=>6E>4O >5?4EFL,
7. �<<<FD>67D44, 
G?. �G=5OL564, 4.310

�><5M5=<5 4?O ED4=5=<O < ?D>D<?4>F<G5E>>7> >5E?G6<64=<O 
GG55=>7> >5>DG4>64=<O 7 64
�555?L 4?O ED4=5=<O. %N5<=>5 < 6E?><>74F5?L=>5 >5>DG4>64=<5, 
=4E>4OM55EO =4 ED4=5=<< < >5E?G6<64=<<.

433511,  

'?LO=>6E>4O >5?4EFL,
7. �<<<FD>67D44, 
G?. �G=5OL564, 4.310

�><5M5=<5 4?O ED4=5=<O < ?D>D<?4>F<G5E>>7> >5E?G6<64=<O 
GG55=>7> >5>DG4>64=<O (>><?LNF5D=>= F5E=<><) 7 32a

%F5??46-1 LF., ?>?>4 1 LF., EF>?-8 LF., 
=>GF5G> Samsung NP300 E5C - 1 LF., 
�?5D4F<>==4O E<EF5<4: Calculate Linux

>D<E=O= ?4>5F LibreOffice 5.3 (&5>EF>6O= ?D>F5EE>D (LibreOffice 
Writer), -?5>FD>==4O F45?<F4 (LibreOffice Calc), �D575=F4F<O 
(LibreOffice Impress), $544>F>D D<EG=>>6 (LibreOffice Draw), �47O 
44==OE (LibreOffice Base))
�DE<64F>D 7-zip

�5DE>=4?L=O5 >><?LNF5DO ?D>F5EE>D Intel(R) Pentium (R) CPU

3GHz / ��' 1,49Gb 3 6 LF.
�?5D4F<>==4O E<EF5<4: Calculate Linux

>D<E=O= ?4>5F LibreOffice 5.3 (&5>EF>6O= ?D>F5EE>D (LibreOffice 
Writer), -?5>FD>==4O F45?<F4 (LibreOffice Calc), �D575=F4F<O 
(LibreOffice Impress), $544>F>D D<EG=>>6 (LibreOffice Draw), �47O 
44==OE (LibreOffice Base))
�DE<64F>D 7-zip

433511,  

'?LO=>6E>4O >5?4EFL,
7. �<<<FD>67D44, 
G?. �G=5OL564, 4.310



�D>7D4<<4 E>EF46?5=4 6 E>>F65FEF6<< E FD55>64=<O<< $��% �� ?> =4?D46?5=<N ?>47>F>6>< 

19.03.04. «&5E=>?>7<O ?D>4G>F<< < >D74=<74F<O >5M5EF65==>7> ?<F4=<O» (54>4?46D),.  

GF65D645==>7> ?D<>47>< �<=<EF5DEF64 >5D47>64=<O < =4G>< $>EE<=E>>= $545D4F<< >F 

17.08.2020 71047. 
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